LOSUNG zu bsp-4787-2/BSQR

Arbeitsblatt
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Aufgaben-Quickname: 4787

Aufgabe 1
Berechne.

a) 26 + 574 = 600
d) 24 + 876 = 900
g) 20 + 880 = 900
i) 40 4+ 760 = 800

Aufgabe 2

Berechne.

a) 679 + 4321 = 5000
¢) 501 + 7499 = 8000
¢) 190 + 7810 = 8000
¢) 790 + 2210 = 3000
) 208 + 2792 = 3000

Aufgabe 3

b) 56 + 144 = 200
¢) 67 + 333 = 400
h) 65 + 635 = 700

28.07.2013

¢) 33 + 767 = 800
£) 36 + 764 = 800
i) 52 + 548 = 600

b) 878 + 6122 = 7000
d) 207 + 7793 = 8000
£) 726 + 3274 = 4000
h) 798 -+ 6202 = 7000
i) 258 + 7742 = 8000

Berechne.
A)1+39=40 1)6+24=30 ¢ 4+46 =50
HT7+63=70 1+79=80 £ 3+57=060
W7+73=80 1)3+47=50  )8+72=280
Aufgabe 4
Berechne.

a) 200 + 8800 = 9000
c¢) 200 4 2800 = 3000
e) 800 4 2200 = 3000
g) 700 + 8300 = 9000
i) 200 + 5800 = 6000
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b) 300 + 8700 = 9000
d) 400 + 6600 = 7000
£) 300 + 4700 = 5000
h) 300 -+ 700 = 1000
i) 800 -+ 1200 = 2000
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g) 7+ 3 =10
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